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Network Appliance NS0-162 Exam Syllabus Topics:
TopicDetailsTopic 1- Describe inflight or at rest encryption-  Describe high availability concepts-  Describe how to use network

componentsTopic 2- Identify MetroCluster concepts-  SAN Solutions and Connectivity-  Describe how to use SAN solutions

Topic 3- Demonstrate knowledge of how to troubleshoot SAN solutions-  Describe NetApp ONTAP Data Fabric solutionsTopic 4-

Demonstrate knowledge of how to troubleshoot NAS solutions-  Describe ONTAP system managementTopic 5- Describe

how to upgrade or scale ONTAP clusters-  Describe how to manage Storage Virtual Machines (SVM)Topic 6- Demonstrate

knowledge of how to administer ONTAP performance-  Describe how to use logical storage featuresTopic 7- Describe how

to use NAS solutions-  Identify SnapLock concepts-  Describe how to use SnapMirror

 

NO.11 An application owner at your organization requests a solution for zero RTO In the event of a failure In your primary data

center, where you are using NetApp ONTAP 9.8 software with ISCSI LUNs. The owner wants to avoid reconfiguring the

application.
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Which NetApp solution would you propose to fulfill these requirements?

*  SyncMlrror

*  SnapMirror Business Continuity (SM-BC)

*  SVM Disaster Recovery (SVM DR)

*  SnapMirror Synchronous (SMS)

NO.12 You have an AFF A400 ONTAP cluster provisioned at both your production and disaster recovery sites. You want to

manage and receive scheduled health reports.

Which two tools would help you to accomplish this task? (Choose two.)

*  Active IQ Config Advisor

*  ONTAP System Manager

*  Active IQ Unified Manger

*  Cloud Insights

NO.13 You want to enable the Internal ONTAP engine that quickly Identifies the file and directory differences between two

Snapshot copies. In this scenario, which feature would accomplish this task?

*  SnapVault

*  SnapCenter

*  SnapDIff

*  SnapLock

NO.14 You attempt to create an SVM for CIFS access only.

In this scenario, which three actions must be performed to Join the existing Active Directory? (Choose three.)

*  Create DNS entries.

*  Create a data LIF.

*  Create export policies.

*  Create NTP entries.

*  Create a cluster LIF.

NO.15 Click the Exhibit button.

Referring to the exhibit, what are two reasons why no initiators are displayed in the initiators&#8217; igroup screen? (Choose two.)

*  SLM has not been enabled.

*  Zoning on the switches has been done incorrectly.

*  The server has not been powered up.

*  ALUA has not been enabled on the NetApp controllers.

NO.16 You need to Increase the number of files that can be created In a volume. Which two methods enable you to achieve this

goal? (Choose two.)

*  Increase the number of files permitted on the volume.

*  Set the space guarantee to &#8216;volume&#8221;.

*  Set the fractional reserve to &#8220;0&#8221;.

*  Increase the size of the volume.

NO.17 After attempting to perform an ONTAP upgrade. It falls during the pre-check. In this scenario, what would cause this

problem?

*  encrypted volumes

*  offline volume
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*  Idle SnapMirrors

*  offline data LIF

NO.18 A customer wants to migrate a series of LUNs from a third-party array to a FAS. In this scenario, which two tools would the

customer use? (Choose two.)

*  ADP

*  XCP

*  FLI

*  NKS

NO.19 Click the Exhibit button.

Referring to the exhibit, which volume has a snap reserve value set to zero (0)?

*  netapp_no1

*  netapp_esx_m1

*  netapp_lnx_mi

*  netapp_esx

NO.20 A volume Is set to use Adaptive QoS with the default policy.

In this scenario, which change would affect the QoS throughput ceiling?

*  Data is added to the volume.

*  Disks are added to the volume&#8217;s aggregate.

*  More clients access the volume.

*  The volume Is resized.

Reference:

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_OS/What_is_Adaptive_QoS_and_how_does_

it_work

NO.21 You are the administrator of an ONTAP 9.8 cluster. Your company wants to know how many files are In the NAS volumes

of the cluster and how old these files are.

Which two tools fulfill this requirement? (Choose two.)

*  Active IQ Config Advisor

*  Active IQ Unified Manager

*  ONTAP System Manager

*  ONTAP CLI

NO.22 You want to scale out storage performance for read-Intensive data across multiple locations. In this scenario, which NetApp

feature accomplishes this task?

*  FlexClone

*  FlexVol

*  FlexCache

*  Flash Pool

NO.23 You attempt to create an SVM for CIFS access only.

In this scenario, which three actions must be performed to Join the existing Active Directory? (Choose three.)

*  Create DNS entries.
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*  Create a data LIF.

*  Create export policies.

*  Create NTP entries.

*  Create a cluster LIF.

Before creating an SMB server in an Active Domain controller, you must ensure that the cluster time and the time on the domain

controllers of the domain to which the SMB server will belong matches to within five minutes.

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-cifs-cg%2FGUID-5AE3CADE-5EF1-403B-A664-2DEA

9F13B0C8.html

NO.24 Exhibit.

 

 

You recently added a new ESXi host to your VMware vSphere cluster. However, you cannot mount any of the existing NFS

datastores to the host. Referring to the exhibit, which action solves the problem?

*  Add NFSv4 to the access protocols.

*  Enable Kerberos in the export policy.

*  Add SMB/CIFS to the access protocols.

*  Add HOST 3&#8217;s IP address to the NFS export policy.

NO.25 Your company requests that the monthly performance data of your ONTAP 9.8 cluster be exported to a CSV file for further

processing. In this scenario, which three NetApp products satisfy this requirement? (Choose three.)

*  Active IQ Unified Manager

*  Cloud Insights

*  Active IQ Config Advisor

*  ONTAP System Manager

*  Active IQ OneCollect

NO.26 Click the Exhibit button.
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A customer is complaining about performance and wants to improve the latency for vol01.

Referring to the exhibit, what is affecting the performance?

*  a disk

*  the network

*  the cluster

*  a QoS policy

NO.27 A volume Is set to use Adaptive QoS with the default policy.

In this scenario, which change would affect the QoS throughput ceiling?

*  Data is added to the volume.

*  Disks are added to the volume&#8217;s aggregate.

*  More clients access the volume.

*  The volume Is resized.

NO.28 Click the Exhibit button.

You are planning to present storage to your servers from your AFF system using the FC protocol. You have a pair of Fc switches to

ensure connectivity and you have decided to use WWPN zoning.

Referring to the exhibit, which two WWPNs do you use for your configuration? (Choose two.)

*  fc-1 WWPN

*  fc-2 WWPN

*  0d WWPN

*  0c WWPN

NO.29 You need to configure data-at-rest encryption for your NetApp ONTAP 9.8 cluster. Your company does not have Key

Management Interoperability Protocol (KMIP) services available but must require a passphrase to be entered when a node Is

rebooted.

In this scenario, which two actions should be performed to satisfy these requirements? (Choose two.)

*  Configure an external key management server.

*  Enable onboard key management.

*  Enable cluster-wide FlPS-compliant mode.

*  Enable common criteria mode.
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